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The Question Paper will be given in the form of a Question Booklet. There will be four
versions of Question Booklets with Question Booklet Alpha Code viz. A, B, C & D.

The Question Booklet Alpha Code will be printed on the top left margin of the facing sheet
of the Question Booklet.

The Question Booklet Alpha Code allotted to you will be noted in your seating position in
the Examination Hall.

If you get a Question Booklet where the alpha code does not match to the allotted Alpha
Code in the seating position, please draw the attention of the Invigilator IMMEDIATELY.

The Question Booklet Serial Number is printed on the top right margin of the facing sheet. If your
Questign Booklet is un-numbered, please get it replaced by new Question Booklet with same
Alpha Code.

The Question Booklet will be sealed at the middle of the right margin. Candidate should
not open the Question Booklet, until the indication is given to start answering.

Immediately after the commencement of the examination, the candidate should check that
the Question Booklet supplied to him/her contains all the 100 questions in serial order. The
Question Booklet does not have unprinted or torn or missing pages and if so he/she should
bring it to the notice of the Invigilator and get it replaced by a complete booklet with same Alpha
Code. This is most important.

Question Serial No. 1 to 60 are printed both in English and in Kannada. Doubts regarding
the meaning and translation of Question Serial No. 1 to 60 will be settled based on the
Questions in English.

Two blank pages are provided before the last page of this Question Paper for rough
work.

Please read carefully all the instructions on the reverse of the Answer Sheet before
marking your answers.

Each question is provided with four choices (A), (B), (C) and (D) having one correct answer.
Choose the correct answer and darken the bubble corresponding to the question number
using Blue or Black Ball Point Pen in the OMR Answer Sheet.

Each correct answer carries 1 mark and for each wrong answer 1/3 mark will be
deducted. No negative mark for unattended questions.

No candidate will be allowed to leave the examination hall till the end of the session and
without handing over his/her Answer Sheet to the Invigilator. Candidates should ensure
that the Invigilator has verified all the entries in the Register Number Coding Sheet and
that the Invigilator has affixed his/her signature in the space provided.

Strict compliance of instructions is essential. Any malpractice or attempt to commit any
kind of malpractice in the Examination will result in the disqualification of the candidate.
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1. Which of the following statement is/are correct about the Anglo-Mysore Wars ?
i. Tipu got the help of the Dutch against the English.
ii. Tipu won the Third Anglo-Mysore War.
iii. Lord Wellesley led the English during the Fourth Anglo-Mysore War.
iv. Hyder Ali fought against the English during the First and Second Anglo-Mysore

Wars.
A) iandii B) iii and iv
C) Onlyii D) None of the above

2. Which among the following is/are related to Parsi Reform Movement ?
i. Kuka Movement.
ii. ‘Rast Goftar'.
iii. Namdhari Movement.
iv. Rahnumai Mazdayasnan Sabha.
A) iandii B) iii and iv C) iiiandi D) iiandiv
3. Which of the following option gives the correct chronological arrangement of the
historical events ?
i. Kallumala agitation.
ii. Formation of Sadhu Jana Paripalana Sangam.
iii. Establishment of the Cochin Pulaya Maha Sabha.
iv. Villuvandi Yatra.
A) v, i, iii, i B) i, iii, i, iv C) iii, iv, i, i D) i, ii, iii, iv
4. In what way was the Cochin Regulation XII of 1920, a step ahead of similar acts by

the Tiruvitamkureans before 1920 ?
Choose the correct option from the following statements.

i. Granted the right of maintenance.
ii. Prohibited polygamy.
iii. Legalised individual partition of Taravad.
iv. Recognised Sambandham as a legal marriage.
A) i, iii, iv B) i, iv, iii C) Only iv D) Only ii
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5. Identify the false statement/statements among the following.
i. Ho Chi Minh established the Democratic Republic of Vietnam.
ii. Ngo Dinh Diem was the dictator of South Vietnam.
iii. Vietham war was a great success for the US.
iv. In 1954, French rule in Vietham came to an end.
A) i B) iv
C) iii D) All of the above

6. In the following table, Section A shows the name of the astronauts and Section B
shows the number of days they spent in space. Which one is the correct option ?

Section A Section B
i Frank Rubio 400 days

ii. Barry Wilmore | 450 days
iii. Sunita Williams | 650 days

iv. Peggy Whitson | 675 days
A) iii B) iv C) ii D) i

7. With reference to Kerala, consider the following statements.
a. Manjeswaram is the northern most river.
b. Kabani, Bhavani and Pamba are east flowing rivers.
Which of the statements given above are correct ?
A) Statement a is incorrect and Statement b is correct
B) Both Statements are correct

C) Statement a is correct and Statement b is incorrect

D) Both Statements are incorrect

8. On which of the following dates did the equinox occur ?
A) June 21 and December 23
B) March 21 and September 23
C) March 21 and July 23
D) June 21 and September 23
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Which of the following statement is correct ?

A) Spring tides occur during new moon and full moon.

B) Neap tides occur during new moon and full moon.

C) During spring tide earth, moon and sun is in quadrature position.
D) Number of days in a lunar month is 31.

Which of the following remote sensing satellites is correctly paired ?
A) SPOT — Germany

B) GeoEye — France

C) Envisat — India

D) Landsat — USA

Identify the correct pair from the following.

A) Bhabar — Narrow zone at the foot of Himalaya characterized by rocky and boulder
terrain

B) Terai — Composed of older alluvium and largest part of the plain
C) Bhangar — Marshy plain located on South of the Bhabar
D) Khadar — Older alluvium deposit and is not fertile

The theme for “World Water Day 2025”

A) Ocean Preservation B) River Preservation

C) Glacier Preservation D) Wetland Preservation
Which strategy emphasised investment in heavy industry to achieve rapid
industrialisation in India during the Second Five-Year Plan ?

A) Mahalanobis Strategy B) Harrod-Domar Strategy
C) Garibi Hatao Strategy D) Rolling Plan Strategy

A set of free-market economic policy reforms imposed on India by the World Bank
and the IMF as a condition for a loan in 1991 is called

A) Investment Project Financing (IPF)

B) Structural Adjustment Programs (SAPs)
C) Special Drawing Rights (SDRs)

D) Rapid Financing Instrument (RFI)
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Among the following, which was not a major policy initiative undertaken as part of
the new economic reforms in India ?

A) Fiscal and monetary sector reforms
B) Industrial policy reforms
C) Rationalisation of exchange rate policy

D) Introduction of Goods and Service Tax

IAAP, IADP and HYVP are the major initiatives taken as part of which programme
in India ?

A) New Economic Policy B) Green Revolution
C) Demonetisation D) NITI Aayog

What are the long-term objectives of the Indian Five-Year Plans ?
A) Agricultural and Industrial Production

B) Control Inflation and Maintain Price Stability

C) High Rate of Growth, Social Justice and Self-Reliance

D) Balance Budget and Maintain Fiscal Discipline

What was the main theme of the Ninth meeting of the Governing Council of NITI
Aayog, held on 27" July 2024 ?

A) Skilling, MSMEs and Women Empowerment
B) Establishing Cooperative Federalism

C) Emerging from the COVID-19 Pandemic

D) Viksit Bharat @ 2047

Who is responsible for appointing the Inter-State Council in India ?
A) The President of India B) The Prime Minister
C) The Union Cabinet D) The Chief Justice of India

Which Constitutional Amendment of the Constitution of India restricted the size of
the Council of Ministers to 15% of the total strength of the Lok Sabha or the State
Legislative Assembly ?

A) 73 Amendment B) 86 Amendment
C) 61 Amendment D) 91 Amendment
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21. Consider the following provisions applicable when the office of the President of India
falls vacant.

1. The Vice President assumes the responsibilities and functions of the
President.

2. If the offices of both the President and the Vice President fall vacant, the Chief
Justice of India discharges the duties of the President.

3. In the absence of Chief Justice of India, the senior most judge of the Supreme
Court available acts as President until a new President is elected.

4. Parliament enacted the President (Discharge of function) Act, 1969 to address
such vacancies.

Which of the statements given above is/are correct ?
A) 1,2and 3
B) 1,2and 4
C) 1,3and 4
D) All the above are correct
22. Consider the following statements regarding the duties of the Attorney General of

India.

1. Advises the Government of India on legal matters referred to the Attorney General
of India.

2. Attorney General has the right to audience in all courts in the territory of India.

3. The Attorney General has the right to speak in the proceedings of both the Lok Sabha
and the Rajya Sabha.

4. The Attorney General has the right to vote in both Houses of Parliament.
Which of the statements given above is/are correct ?

A) 1,2and 3

B) 1,2and 4

C) 1,3and 4

D) All the above are correct

23. Inwhich year was the Central Vigilance Commission established by the Government
of India ?

A) 1961 B) 1964 C) 1967 D) 1971
A -10-
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24.

25.

26.

27.

28.

Which session of the Indian Parliament usually takes place between July and
September ?

A) Budget Session B) Monsoon Session
C) Winter Session D) Joint Session

Who is the author of the famous book, “Founding Mothers of the Indian Republic :
Gender Politics of the Framing of the Constitution” ?

A) Rajni Kothari B) Paul R. Brass C) Achyut Chetan D) Arun Shourie

Consider the following statements regarding Prime Minister’s Office (PMO).
1. Prime Minister’s Office is a line agency.
2. PMO came into existence in 1947.
3. It was called the Prime Minister’'s Secretariat (PMS) until June 1977.
4.

Prime Minister's Office assists the Prime Minister in his overall responsibilities as
Head of the Government.

Which of the statements given above is/are correct ?
A) 1,2and 3 B) 2,3and 4
C) 1,3and 4 D) All the above are correct

Which among the following principles of natural justice are emphasized in the context
of e-governance ?

|. Encouraging unilateral administrative decisions to streamline governance.
Il. Strengthening transparency and accountability in government processes.

[ll. Enhancing responsiveness and participation to ensure equitable governance.

IV. Limiting grievance mechanisms to improve decision-making efficiency.
A) Only I B) Only Il and Il
C) Only IV D) All the above (I, Il, Ill and 1V)

Which of the following socio-demographic trends is/are most likely to increase the
overall vulnerability of human population to various risks and hazards ?

|. Rapid urbanization

II. Enhanced disaster awareness and preparedness
[ll. Decentralized governance systems

IV. Population growth
A) Only | and IV B) Only |
C) Only land 11l D) Only IV

-12-
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29. The formulation of which Act is mentioned as providing the initial impetus for the
concept of state-provided employment as a legal right ?

|. The National Rural Employment Guarantee Act.
[I. The Public Works Programme Act.
[ll. The Maharashtra Employment Guarantee Act.

IV. The Food for Work Programme Act.
A) Only | and IV B) Only I and Il
C) Only | D) Only Il

30. Which among the following is the primary purpose of Article 142 of the Indian
Constitution ?

[. To limit the Supreme Court’s power to cases explicitly defined by existing statutes.

Il. To empower the Supreme Court to ensure complete justice even when statutory
laws are insufficient.

[ll. To allow the legislature to overrule orders passed by the Supreme Court in
matters of justice.

IV. To provide a mechanism for the Supreme Court to act solely within its executive
and legislative roles.

A) Only I and Il B) Only I and IV
C) Only li D) All the above (I, II, Il and IV)

31. Underthe Reverse Mortgage Scheme, what do senior citizen homeowners mortgage
to financial institutions ?

|. Their savings accounts
[l. Their movable assets
[ll. Their property
IV. Their future income
A) Only Il B) Only | C) Only I and Il D) All the above

A -14-
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32. Which of the following is the principal gas contribute to green house effect ?

33.

34.

35.

36.

37.

|. Methane (CH,)
. Nitrous Oxide (N,O)
ll. Carbon Dioxide (CO,)

IV. Ozone (O,)
A) Only | B) Only lll and IV C) Only I D) All the above

Which part of the brain controls basic functions such as breathing and heart rate ?
A) Cerebellum B) Cerebrum
C) Medulla oblongata D) Hypothalamus

Which Vitamin is necessary for the synthesis of collagen, a protein important for skin,
bones and connective tissue ?

A) Vitamin — A B) Vitamin—-C
C) Vitamin —E D) Vitamin — K

Which of the following disease is/are not caused by a virus ?
i. Influenza
ii. Tuberculosis
iii. Measles
iv. Dengue fever
A) Only ii B) Only ii and iii
C) Onlyiandii D) Onlyiandiv

What is the primary cause of Chronic Obstructive Pulmonary Disease (COPD) ?
A) Bacterial infection B) Viral infection
C) High altitude D) Smoking

Which initiative is aimed at addressing postpartum depression among mothers of
Kerala ?

A) Bhoomika B) AAWAZ Scheme
C) Healthy Kids D) Amma Manasu
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38.

39.

40.

41.

42.

43.

44.

A travelling wave is sent along a string by oscillating one of its ends. If the frequency
of oscillation is increased then the

A) Speed of the wave remains constant but wavelength increases
B) Speed of the wave remains constant but wavelength decreases
C) Speed and wavelength of the wave remain the same

D) Speed of the wave increases but wavelength decreases

If v_ is the escape velocity of an object from the surface of the Earth, then what is
the escape velocity of that object from the surface of a planet which is four times as
massive as Earth and has the same radius ?

A) 2v, B) 4v, C) V2v, D) v

e

Which of the following is not a characteristic of the photoelectric effect ?

A) Thereis no time interval between the arrival of light at metal surface and the emission
of photoelectrons

B) The kinetic energy of ejected electrons is proportional to the intensity of incident
light

C) The number of electrons ejected is proportional to the intensity of incident light

D) Every photosensitive material has a minimum cutoff frequency of incident radiation,
known as the threshold frequency

Name the satellite launched by ISRO in its 100" mission using GSLV-F 15 Launching
Vehicle on 29 January 2025.

A) NVS-02 B) Proba-3 C) EOS-08 D) DS-SAR

The huge amount of energy formed in the sun and stars by nuclear fusion reaction.
The gas formed by the nuclear fusion reaction in sun is

A) Hydrogen B) Xenon
C) Neon D) Helium

The chemical name of Baking soda and Washing soda are respectively
A) Sodium carbonate and Sodium bicarbonate

B) Sodium bicarbonate and Sodium carbonate

C) Sodium bicarbonate and Calcium carbonate

D) Sodium carbonate and Calcium carbonate

Which one of the following compound is not a mineral of iron ?

A) Haematite B) Magnetite C) Malachite D) Siderite
-18-
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45. Which among the following is the correct set of most abundant metal and non-metal
in human body ?

A) Calcium and Oxygen B) Calcium and Phosphorous
C) Iron and Phosphorous D) Calcium and Carbon

46. Which of the following statements are correct about Olympics medals won by India ?
i. Field Hockey was the first Olympic sport in which India won a gold medal.
ii. In 1928 India won its first Olympic gold medal.

iii. Abhinav Bindra won the first individual of Olympic gold medal for independent India
at the London Olympics in 2012.

iv. Karnam Malleswari was the first Indian woman won a bronze medal in the 2000
Sydney Olympics.

A) Onlyi,iiandiii B) Onlyi,iiandiv  C) Onlyi,iiiandiv D) All of the above

47. Match the following writers with their pen names.

a. George Varghese i. Premji

b. M. P. Bhattathiripad ii. Vilasini

c. P. C. Kuttikrishnan iii. Kakkanadan

d. M. K. Menon iv. Urub

A) a—iv,b—iii,c—ii,d—i B) a—ii,b—i,c—iv,d—ii
C) a—iii,b—i,c—iv,d—ii D) a—i,b—iv,c—ii,d—ii

48. Which of the following statements are incorrect about cultural centres in Kerala ?
i. Kerala Kalamandalam was formed in 1920.
ii. N.V.Krishna Warrier was the first director of Kerala Bhasha Institute.
iii. Kerala Sahitya Academy was officially inaugurated on 15 October 1956.
iv. Kerala Sastra Sahitya Parishad was founded on 10" October 1965.
A) Onlyiandii B) Onlyiiandiii  C) Only iii and iv D) Onlyivandi

49. Which of the following art form is performed to appease the Goddess Bhadrakali ?
A) Mohiniyattam B) Thiraiyattam C) Padayani D) Poorakkali

50. Which city hosted the Artificial Intelligence Safety Summit in February 2025 ?
A) Paris B) San Francisco
C) London D) Delhi

A -20-
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51. Divide 981 in the ratio 5 : 4.
A) 535 :446 B) 545:436 C) 540: 441 D) 445 :536

52. The percentage profit earned by selling an article for Rs. 1,920 is equal to the
percentage loss incurred by selling the same article for Rs. 1,280. At what price
should the article be sold to make 25% profit ?

A) Rs. 2,000 B) Rs. 2,200 C) Rs. 2,400 D) Rs. 2,600

53. A can do a piece of work in 4 hours, B and C together can do it in 3 hours, while
A and C together can do it in 2 hours. How long will B alone take to do it ?

A) 8 hours B) 10 hours C) 12 hours D) 24 hours

54. A car traveling at a speed of 80 km/h can complete a journey in 9 hours. How long
will it take to travel the same distance at 60 km/h ?

A) 10 hours B) 8 hours C) 16 hours D) 12 hours

55. If in a certain code language, RAIL is written as KCTN, how will READ be written in
this code language ?

A) CGTF B) FTCG C) CTGF D) CFFT

56. Kis the son of M. L is the wife of K. J is the son of L. P is married to M. How is J
related to M ?

A) Father B) Son’s son
C) Husband D) Son

57. A man walks 5 km towards south and then turns to the right. After walking 3 km he
turns to the left and walks 5 km. Now in which direction is he from the starting place ?

A) West B) South C) North-East D) South-West
-2 -2 -2
58. Simplify (%) +(%J +(%) .
13 3
A) 12 B) 9 C) 29 D) 12
(2.39)° - (1.61)°
59. Calculate ~— ' :
2.39-1.61
A) 2 B) 4 C) 6 D) 8

60. What will be the next number in the sequence 36, 34, 30, 28, 24,...
A) 20 B) 22 C) 23 D) 26
A -20.
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61.

62.

63.

64.

65.

66.

67.

68.

69.

70.

Identify the error in the following sentence.
One of the girls are from Mumbai.

A) qirls B) are C) the D) from
Complete the sentence using the appropriate tag.

Don’t come in front of me, ?

A) Can you B) Shall you C) Would you D) Will you

Identify the type of the verb in italics in the following sentence.
You let her go

A) Bare infinitive B) Gerund
C) To infinitive D) Present participle

Correct the following sentence by choosing the right option.
Neither the Principal nor the teachers is going for the tour.

A) Will going B) Goes C) Are going D) Has gone

Seeing a snake in the garden Lalu screamed for help. This sentence may be
transformed as

A) Lalu saw a snake in the garden when he screamed for help

B) He screamed for help and saw a snake

C) Lalu was screaming for help when seeing a snake in the garden

D) When he saw a snake in the garden Lalu screamed for help

The italicized word in the following sentence means

As a teacher, she resented invidious remarks made on her students by her
colleagues.

A) Personal B) Cruel C) Sarcastic D) Unpleasant

The idiom in the following sentence means
Perfumes were dime a dozen for him in those days.

A) Rarity B) Plenty and common
C) Precious and valuable D) Expensive

| bank on your word. The phrasal verb in italics means
A) Spends on something or someone

B) Collects money from someone

C) Bases one’s hope on something or someone

D) Spreads something

Correct the following sentence.

The affects of Covid 19 are far reaching.

A) The effects of covid 19 is far reaching. B) The effects of covid 19 are far reaching.
C) The affect of covid 19 is far reaching. D) The affects of covid 19 is far reaching.

His behavior at the party was atrocious. The synonym for the italicized word is
A) Attractive B) Appalling C) Supportive D) Compassionate
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81. Which of the following memories in a computer is faster ?
A) RAM
B) ROM
C) Magnetic Storage Device

D) Internal Process Memory

82. Which of the following is a key benefit of using OCR (Optical Character Recognition) in
document processing ?

A) It can automatically detect and count multiple-choice answers on a form

B) It enables machines to read and convert printed or handwritten text into editable
digital format

C) It uses magnetic ink to recognize bank account numbers on checks

D) It allows for the automatic reading of QR codes for storing web links

83. Which of the following is the most likely application of a supercomputer ?
A) Managing personal emails and web browsing
B) Controlling embedded systems in consumer electronics like smartphones

C) Running large-scale simulations for scientific research, such as weather forecasting
or particle physics

D) Performing word processing and creating presentations for office work

84. translates the messages of the software and hardware into a common

compatible form to make them communicate successfully.
A) Programming software B) Application software

C) System software D) Administrative software

85. What is the octal number for the decimal number 2025 ?
A) 3751 B) 1573
C) 1753 D) 1357

A -26-
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86. Which of the following keyboard shortcuts in Microsoft Word 2021 allows you to
toggle the visibility of non-printing characters (such as spaces, paragraph marks,
and tab symbols) ?

A) Ctrl + Shift+8  B) Alt+ F1 C) Ctrl+ Alt+P D) Shift + F12

87. Which of the following options is not found under the Insert menu in Microsoft
Word ?

A) Table B) Header C) Shape D) Styles

88. What does the VLOOKUP function in Excel do ?
A) It searches for a value in a range and sums all values in the row that match
B) It calculates the average of values that meet a certain condition

C) It searches for a value in a table and returns a corresponding value from the
same row

D) It combines multiple values from different cells into one cell

89. Which keyboard shortcut in Excel is used to quickly insert a new worksheet in the
current workbook ?

A) Ctrl + Shift + N
B) Shift + F11

C) At +W +N

D) Ctrl + Alt + W

90. Which of the following actions is not performed through the Insert tab in PowerPoint ?
A) Insert a table
B) Insert an image from a file
C) Insert a new slide layout

D) Insert a hyperlink

A -27-
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91. What is an abstract class in OOP ?
A) A class that does not have any constructors
B) A class that can only have static methods
C) A class that cannot be instantiated and is designed to be subclassed

D) A class that contains only concrete methods

92. What is the significance of using int as the return type of the main() function ?
A) It indicates that the program outputs an integer to the console
B) It ensures compatibility with the operating system’s expectations
C) ltis a placeholder and can be replaced with float or void

D) It specifies the program’s execution speed

93. What is a common characteristic of event-driven programming ?
A) It executes code in a sequential manner
B) It waits for user actions or events to execute code
C) It cannot handle multiple events simultaneously

D) It does not use graphical user interfaces

94. What is the purpose of the Imports statement in VB.NET ?
A) To include namespaces
B) To import external libraries dynamically
C) To declare variables globally

D) To define methods in a class

95. Which of the following are advantages of DBMS ?
A) Reduced data redundancy
B) Improved data security
C) Easier data access and sharing

D) All of these

A -08-
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96. What is the difference between DELETE and TRUNCATE in SQL ?
A) DELETE removes all rows, while TRUNCATE removes specific rows

B) TRUNCATE removes all rows and cannot be rolled back, while DELETE can be
rolled back

C) DELETE is faster than TRUNCATE

D) None of these

97. Which SQL command is used to remove a table from the database ?
A) DROP TABLE B) DELETE TABLE
C) TRUNCATE TABLE D) REMOVE TABLE

98. What is the role of CSS in web development ?
A) To create interactive web pages
B) To define the layout and style of a web page
C) To manage the content of a website

D) To enhance the security of a website

99. Which HTML tag is used to display an image ?
A) <img> B) <image>

C) <src> D) <picture>

100. Which looping statement is guaranteed to execute atleast once in JavaScript ?
A) for B) while
C) do...while D) None of these

A -29-
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